Domaéci tkol 2 / Homework 2
Limity posloupnosti / Limits of sequences

Vypoctéte limity nasledujicich vyrazu pro n — oo:

Find limits of the following expressions for n — oo:

n+1
1. 2n+4
2 n2+n+1

3 an*+(n—3)*2
* n2—(n+5)3

4 712-1-(71-1-1)2
* (n+3)2+(n+4)2

5. (3)" - 55

4n—3
6. 571,216n—1 + (72)”‘

7. Vn(Vn+1-yn)
8. n(vn2+1—+vn2-1)
9.2.5" —2.4n+!

3n+1+5n
10. 3n_gntl

3.7n—1 on
11. B 3ntl_7n
12, B+@)"

e
Hr=)r

Reseni / Solution: 1.1 2.0, 3. — oo, 4.1, 5.

2

6. neexistuje / no limit, 7. 1/2, 8. 1, 9. + oo, 10.

~9/3,

7

Matematika pro ekonomy / Mathematics for economists

12.



